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pp







 



  

  


3
3

3



 


   
 










 



 




3










 

pp










3

 

mp









3






 

pp








 


 








sfz






  

mp

pizz.







 



























 

arco

p pp











 

   


 













 



l.v.





 

mf









5















h = q.

h = q.

h = q.

35 











q. = q 

q. = q 

q. = q 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












 

p








3

  





3

   

pp
  


  


 

p






 



 


 



sfz


  





 







  


    

p






 


 










 

p

 





 





 

  












 





 

p











 















3












4
3



p






 


    

pizz.
 



sfz



mp




 

arco





 

  

p





 








   

pizz.




sfz

 


 

arco


mp










 

  




p








  

 

  






 

sfz(p)

pizz.





  

arco

p

 

sfz(mp)





  

pizz.






  

p

















3
































      











 








  



p

  





     

mp
















l.v.

  

6



41 











e = 200 

e = 200 

e = 200 













e = 120 

e = 120 

e = 120 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.














p
sfz(f)
















 



      

p

   












8









  

p



 
 

   

      

3



p



sfz(f)





      

mp

 

 



  





sfz(f)





     

p

harmonic









f












p

 







 







sfz




 

p



 



  












 








 


    




p





























5 3

3

4


 

p













  












 


    



pizz.

sfz











    

3




pp









 

sfz





















 























































 



p
















 











p




7



48 











q = 80 

q = 80 

q = 80 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













sfz







      

mf
















 


 

p

 


   






 





5:3


 


 





 


  














5:3

3 3

3



 

p

 

sfz(p)


















 

mf







  

8



sfz






p





 
 





    

mf






  






 






    


8


 

sfz
  



  

p






  



5:3










pizz.





sfz






 

arco

 


 







mf








5



  





 





 




3 3

3

5:3
5 5 3







arco

p





 















 





3







3



 




 









 

mf









 






4:3

5:3










        











sfz(p)







        






8



55 











q = 120 

q = 120 

q = 120 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.














ff




















sfz







     

p






  

5 3







       

p









 

 







 



 

3


 

fff








pp (sub.)











 





 




















 

5

















ff


















   ppp

non vib.




      







 



ff












 

sfz




      

5 7




ff









 



sfz





 




p
 


 


3 


   





 

pizz.


 





5










 

 






sffz








    


























 






ff
































   

p

 






9



62 











q = 80 

q = 80 

q = 80 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.














p



 





 

f (sub.)



 

 

p

 

3



   
















sfz




  














 

 

 

f (sub.)




 

  

p





  








 

  

p






3

3




p















 



 

f (sub.)




 

   

p









    

p










 













5

3

5


 

sfz

 

sfz






f (sub.)

 

p (sub.)

 

ppp

      



 

p





 
 

 




 




 

f (sub.)


 

p




    










 

  






arco











p


  



 

f (sub.)



 

p (sub.)

 


 




 


 


   







p






  



  

11:12x




  
















 



p





  

p











 











 



3




p

 





f (sub.)












 




 



  






 







 

10



71 











q = q.

q = q.

q = q.













Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












     

p




  

3

 







    








 

p





  






 


 

 


  










3

7



 

  








 
  

 






 




   


  

3

3



      


   



p

 

 



   



    




 






3


















  

mf






mp



 




3

5




p

 
 







 


























 












 

sffz













   

5









  








sfz





 





 





   

11















h = 80

h = 80

h = 80

76












q = 100

q = 100

q = 100













q = 120

q = 120

q = 120

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













 

mp



 
















  

sfz






   

pp



  


















  

sfz(p)








 

    

ff f






 

p

  

pp






 




6




mp

 


 
 

   










 

 




sfz



 

  

pp




















 

p

 



sfz



    

mp
 

 






 










ff



 
  

pp p























5

   

 

    

mf





ff



 




 

 

p







pp





p

























 







  
















 

mf



ff



 
   

pp

 





















 

sfz(p)







3


 

sfz(f)





  

pp
p




























   




































12



82 











q = 80

q = 80

q = 80

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













 

     

mp














 




p



 

pp











3


   

ppp





 

sfz




    

p



 
  



p

  




  

sfz




    

ppp

 





  



p

     

mp




 



 

p





pp









 


3




  

3



p

   








 

mp





 


p










 

p



 

 

 

















p
   

mp




 
 

 

 



p


 










pp











3



p








  



 


3

3

3 3




p






 






m.s.


 








   

p




   



sfz





  




 





   





   

13



90 











q = 144

q = 144

q = 144













q = 120

q = 120

q = 120

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












  

p




  










sfz





  

p










 


 







3


   

p








     

pp





 


 

p





 



 

    

p




 

        

p





5






   

pp





      

sfz(f)





 





 






  

p
  










sfz





  

p p




 



 



















 






 

p

















sfz





 

p

  

p


  


 

p

 






5

 





5




p











 




  





 


 












f










































   












  

sffz









  








 
 


 









 

p







  





   

p


 




5

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97 











q = 80

q = 80

q = 80













h = 80

h = 80

h = 80

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












 

p







 




  


 



  

    

p






  

5
3



sfz





     

p













p






  

5



 






  


  

p

 









 

p


 


   



3


 

p


 













 

    

5


 

p
 

   



















 


   



5



 



p
 



















3

 










 










   

p







 


5

3

3 3 3



   
  



















6



sfz

  
  


 

   


p 



5
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











e = 120

e = 120
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Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












 

p








 







     





3

   



3

3


   

p











 

    

3



 




 

mp













 







 








3 6


 



     

p







 

 


   

mp












 





 















 


 

3


  

p










  

  

     

sfz(p)










3


 

p













    


    





3

 


  







  






 

3 3

3

  
  


  

 





3

 





sfz(ff)





     

3










 
















  

p



















 

p
































 

  












sfz









sfz






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q = 100

q = 100
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Cl.

Vln.

Vla.

Vc.

Pno.













p







 





 

p

  








 

sfz(f)




      

ff




 








4

5
9


  

p

  





 

sfz(f)





     


  

p

  





 

sfz(f)




      



p






 
 


    




 

sfz(f)





     



sfz







p




 

sfz






 


 


 


 







 








 

sfz(f)





     

7


 

p





 






 

sfz











  

 







 

sfz(f)
ff





 







 



 










 





 

   

sfz(f)

pizz.








3

5:3

9


  











 



p



















 









   


  

sfz(p)











 



 











l.v.

sfz(f)






   

sfz







   

sfz(f)








   
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q = 120













h = 80

h = 80
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












   

p







 






 





  

sfz





    

p







3 3


     




ff




 






 


     

p



9


  

p







 






 

pp







pp

 

sfz




 

3 3

  

f








 


p
   



 











 
 

 

 
 

 

  







 



p













3




arco
 

sfz




  

sfz p















sfz




   


p




  
 


  







   

p


 




   












   





 



 





   

sfz(p)





    






  

p

 

sfz


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Fl.
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Cl.

Vln.
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Vc.
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











 

sfz




   

pp







3




pppp














































 

sfz






p








3




pp








3









3



 

pppp






 












 

























 

p








3




pp








3











3









3











3




pppp


























 


















 

sfz



ppp




 








pppp

non vib., pont.


















idem












 









 

ppp




 







pp








3

 pppp

non vib., pont.












 



idem









 



















 

sfz



  

p







 

sfz




   

pp









3




non vib., pont.

pppp



 


 




idem


 
 





















        


        
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q. = 80

q. = 80

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.






























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










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








p














sfz(f)




   


















ppp




 













p





sfz(f)



    




















ppp







 


 











p




sfz(f)




   




















ppp























p




sfz(f)





   



















ppp



























p
















sfz(f)




    

p












 






7








 







ppp




 


 

 


















ppp



(ppp)

  


     










   


     








sffz


   
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140 











q. = q

q. = q

q. = q













q = 144

q = 144

q = 144

crescere molto 

crescere molto 

crescere molto 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













p


 

 

 






  

f



p











3

  

















































9


  

p
















3


 

 
 

 
 

   








 


 

p



























3


 

   

   




 











       







































 

sfz




  

p



















sfz(f)





  

3

 







 

 








































5 5

9


     





    



































9


  

sfz(f)








  

3



p

 




  

 

 
 

 

 


18


  











  

3




21



146 











e = 80

e = 80

e = 80













e = 120

e = 120

e = 120

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













ff
































 



sfz





 

p sfz














3


















 

 






 

 

 

8

3 5



ff










  



sfz





   

p

  



















 







    

p

 

 





ff






























 

 








p

 


 
  



    




 





 

8

6



ff































 



sfz





   

p














 
 

3


 

3




















 


 





 

8

6

5

3



ff





























  



sfz




  


 

p








  






8 3




  

 
 




 

 


 

  

















 







3


 




  








 







  


16
3 3








p







  















 





3




















 







   

3
3
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











q = 80

q = 80

q = 80

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













sfz




 


 





 

sfz





     

mp




3 3







    

mp






  



  





  
















 




  

3
  


 





 


  













3


 




 

ppp



mp

  


 








 


   








    


sfz

 





3





   




 







 










3

3

  


 



mp



















    

mp




     








3



sfz




  

ppp


 

    

sfz







   

























 





3

5
5


  

ppp




     

mp

sfz















 



 


ppp









  



 




mp




  


  

3










sfz

 





3










3

 



 


 


  

ppp








 



3
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









q = 120

q = 120

q = 120













Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













sfz




    

mp













  







 





 












 




   




3
3 3



 

    



 



   

mp


   

    


 

6



 




sfz

pizz.






arco

p





 
















  







 






  

 










3 3

3


 


  



pp

  









 




mp







pizz. 




 














 


pp

 














  

5 3

3




mp









 












  











  

















 













 







 











  

mp









 














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
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





q = 80

q = 80

q = 80

166 











q = q.

q = q.

q = q.

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












 

f

 























 

mp








 
  

p



 





 


 

mp











5

   

p



 




 


  

f

 





     

p










mp

 

f




 


 











sfz

pizz.

 
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

  


 

  









5

5


  

f




 

3

 





 


 


 

   




5
 
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


 

p

 

      



5


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

 


 





f











 








 





 

5







 

p



 


 

 

 

p






 








5 3

5




sfz








  

sfz


















mp


 












 



























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






































    


















 

p







   
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











q. = q

q. = q

q. = q

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.












 

pp

 













  
 

 


 




3


 
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












  



   

 


3


 

pp













  


 
  

 


3


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  













  





 





3


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  








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

  





 







3


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










 

    





 
 




3



pp





































 











 









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





 



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
 
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



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crescere molto 

crescere molto 

crescere molto 













q = 120

q = 120

q = 120

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.
















  
  




ff


  

 







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
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  


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

   
   

 
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  
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
  

 
  
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
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   
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


   
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
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


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 
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 
  


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


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 
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








 



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  
 

 








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


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
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
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



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
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

 








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





 


9 10 7






 
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



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



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





















 












 















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
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
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Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.













ppp












 
 





 











 













 



ppp

 












 






 
 










 



ppp

  







 






 

 











 



ppp











 

 




 









 

 



ppp









 

 






 










 

 


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









 






 
 

    








 


    


    
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Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.





















 










 

 










 











    







 










 









 

  









 










 

 





 


 
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





  








 

  








 










 
 









 



     

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








 
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



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  


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
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

 
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
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
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


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











 

  









  








 
   






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


  
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
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 
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rall. 

rall. 

rall. 

Fl.

Ob.

Cl.

Vln.

Vla.

Vc.

Pno.



















 












 








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










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
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

 
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

 




 



 





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


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
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








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




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
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




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




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


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
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
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


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
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
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
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
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

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
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










 










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 
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

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